
G –255 

(Assignment Work)

ijh{kkFkhZ gsrq funsZ’k % 
[k.M v& vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad          

mŸkj 'kCn lhek 1&2 'kCn ;k ,d okD;A

[k.M c &vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 

            01 vad dk  gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA

[k.M l &y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad 
dk gksxkA mŸkj 'kCn lhek 150 ;k ,d istA

[k.M n &v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 
04 vad dk gksxkA 'kCn lhek 300 ;k nks istA

[k.M bZ & nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 
vad dk gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

 [k.M&v 

(Section—A) 

1- vFkZO;oLFkk ls lacaf/kr leL;kvksa ds lek/kku ds fy, fd;k x;k ‘kks/k dks ---------------------- ‘kks/k dgk tkrk gSA  

The research done to solve the problems related to the economy is called ............ research. 

2- lkaf[;dh; foHkzeksa dks nks izdkjksa dk uke fyf[k,A 

Write the name of two different types of statistical errors. 

3- ‘kks/k lead ds fdrus izdkj gksrs gSa \ 

How many types of data are there in research ? 

4- ----------------- ekiuh ds varxZr dsoy igpku gsrq fpUg iznku fd, tkrs gSaA 

Marks are wonded for identification only under the ............... scale. 

5- fdlh Js.kh esa lokZf/kd iqujko`fŸk okys ewY; dks --------------- dgrs gSaA 

The value with the most repetitions in a series in called as ........... 

6- fo”kerk ds nks izdkj --------------------- rFkk -------------------- gSA 

Two types of skewness are .............. and ............ 

7- tc lglaca/k 0 ls vf/kd o 0-25 ds e/; gksrk gS rks ------------------ lglaca/k dgykrk gSA 

When correlation is greater than 0 and between 0.25, then it is called .............. correlation. 



  

8- -------------------- fdlh vfuf’pr ?kVuk ds ?kfVr gksus ;k u gksus ds laca/k esa gekjh izR;k’kk dk eki gSA 

............ is the measure of our expectation about the occurance or non-occureance of an uncertian 

event. 

[k.M&c 

(Section—B) 

9- vuqlwph D;k gS \ 

What is a schedule ? 

10- ‘kks/k esa ekiuh dk mi;ksx fdl dkj.k fd;k tkrk gS \ 

Why scales are used in research ? 

11- prqFkZd fopyu ls D;k vk’k; gS \ 

What is quartile deviation ? 

12- lwpdkad dks ifjHkkf”kr dhft,A 

Define Index number. 

13- izlkekU; oØ dh fo’ks”krk,¡ crkb,A 

Write the characteristics of normal curve. 

14- 2 &ijh{k.k ds nks lkekU; fo’ks”krk,¡ crkb,A 

State two general characteristics of 2 -test. 

[k.M&l 

(Section—C) 

15- vH;a’k fun’kZu dks vius ‘kCnksa esa le>kb,A 

Explain Quota sampling in your own words. 

16- lkaf[;dh; ek/;ksa ds mís’; ,oa dk;Z dks Li”V dhft,A 

Explain the objectives and functions of statistical average. 

17- ,d uxj esa dqN fnuksa dk rkieku lh- th- ¼eki½ esa fn;k x;k gS % 

15, 20, – 4, 8, .16, 30, – 10 

foLrkj ,oa mudk xq.kkad Kkr dhft,A 

The temperature of some days in (°C) of a city is given as : 

15, 20, – 4, 8, .16, 30, – 10 



  

Find their coefficient. 

18- cst izes; izfrykse izkf;drk D;k gS \ 

What do you mean by Baye’s theorem inverse probability ? 

[k.M&n 

(Section—D) 

19- ekU;rk ijh{k.k rFkk fo’oluh;rk ijh{k.k ds varj dks foLr`r esa le>kb,A 

Explain in detail the difference between validation test and reliability test.  

20- ‘kks/k esa mi;ksxh lkaf[;dh; ek/;ksa ds izdkjksa dh O;k[;k dhft,A 

Describe various types of statistical averages useful in research. 

21- lglEcU/k Kkr djus dh jhfr;ksa dh foLr`r O;k[;k dhft,A 

Describe in detail methods of determining correlations. 

22- 2 &ijh{k.k dh fo’ks”krk,¡ vko’;d ‘krs± rFkk mi;ksx ij izdk’k Mkfy,A 

Illustrate the characteristics, assumption and uss of 2 &test.   

[k.M&b 

(Section—E) 

23- ‘kks/k izfof/k ds izeq[k pj.kksa dh O;k[;k dj ‘kks/k leadksa ds izdkjksa dks le>kb,A 

Explain the major steps of research while explaining various types of data used in research. 

24- ‘kks/k esa ekiuh izfof/k;k¡ D;k gSa \ vuqla/kku esa iz;qDr fofHkUu rqyukRed vkSj xSj rqyukRed ekiuh 

izfof/k;ksa dh O;k[;k dhft,A 

What is scaling technique in Research ? Explain various comparative and non-comparative 

scales used in research. 

 
 

 

 

 

 

 

 

 

 

 

 
 

 



  

G -256 

(Assignment Work)

 

ijh{kkFkhZ gsrq funsZ’k % 
[k.M v& vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 

'kCn lhek 1&2 'kCn ;k ,d okD;A
[k.M c &vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 

vad dk  gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 
[k.M l &y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02    

vad dk gksxkA mŸkj 'kCn lhek 150 ;k ,d istA
[k.M n &v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 

04 vad dk gksxkA 'kCn lhek 300 ;k nks istA
[k.M bZ & nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 

vad dk gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 
[k.M&v 

(Section—A) 

1- izcU/kdh; vFkZ’kkL= ds {ks= dks fyf[k,A 

Write the scope of Managerial Economics. 

2- QeZ dh ifjHkk”kk nhft,A 

Define a firm. 

3- ek¡x dh vkM+h yksp fdls dgrs gSa \ 

What is cross elasticity of demand ? 

4- mRiknu Qyu D;k gS \ 

What is Production function ? 

5- ykxr dh vo/kkj.kk D;k gSa \ 

What is the concept of cost ? 

6- ewY; dk fojks/kkHkkl D;k gS \ 

What is Paradox of value ? 

7- ,dkf/kdkj dh ifjHkk”kk fyf[k,A 



  

Write the define of monopoly. 

8- ykHk ds izdkj fyf[k,A 

Write the kinds of profits. 

[k.M&c 

(Section—B) 

9- izcU/kdh; vFkZ’kkL= dh ifjHkk”kk nhft,A 

Define Managerial Economics. 

10- ek¡x dk fu;e fyf[k,A 

Write the Law of Demand. 

11- fofu;ksx dh ifjHkk”kk fyf[k,A 

Write the define of Investment. 

12- ewY; foHksn esa dher fu/kkZj.k D;k gS \ 

What is price determination under price discrimination ? 

13- ykHk uhfr D;k gS \ 

What is Profit Policy ? 

14- jk”Vªh; vk; dh izeq[k vo/kkj.kk,¡ fyf[k,A 

Write the important concepts of National Income. 

[k.M&l 

(Section—C) 

15- jkstxkj fl)kUr dk lkjka’k fyf[k,A 

Write the theory of Employment summarised. 

16- O;kikj pØ dh voLFkk,¡ crkb,A 

Mention the stages of Business cycle. 

17- vkfJr ek¡x o vukfJr ek¡x esa Hksn dhft,A 

Differentiate between derived demand and independent demand. 

18- vYidkyhu ,oa nh?kZdkyhu mRiknu Qyu D;k gS \ 

What is short-run and long-run production function ? 



  

[k.M&n 

(Section—D) 

19- nh?kZdkyhu vkSlr ykxr oØ dk vkoj.k Lo:i crkb,A 

Explain the envelop nature of long-run average cost curve. 

20- izcU/kdh; vFkZ’kkL= dh rqyuk ‘kq) vFkZ’kkL= ls dhft,A 

Compare Managerial Economics with Pure Economics. 

21- ,d ubZ oLrq dh ek¡x ds iwokZuqeku ds dkSu&dkSu ls fofHkUu rjhds gSa \ O;k[;k dhft,A 

What are the different ways of forecasting the demand for a new product ? Discuss. 

22- ,dkf/kdkj esa iwfrZ oØ D;ksa vuqifLFkr gksrk gS \ fp= }kjk le>kb,A 

Why do we find absence of supply curve under Monopoly ? Explain with suitable diagram. 

[k.M&b 

(Section—E) 

23- O;kolkf;d vFkZ’kkL= esa LFkk;h fof’k”Vrk okyh oLrq dk ewY; fu/kkZj.k dSls gksrk gS \ 

How is the price of a product of lasting distinctiveness decided in Business Economics ? 

24- izcU/kdh; vFkZ’kkL= dh ifjHkk”kk nhft,A izcU/kdh; vFkZ’kkL= ds vk/kkjHkwr fl)kUr dkSu&dkSu ls gSa \ 

foLrkj ls le>kb,A 

Define Managerial Economics. What are the fundamental principles of Managerial Economics ? 

Explain in detail. 
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(Assignment Work)

 

ijh{kkFkhZ gsrq funsZ’k % 
[k.M v& vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 

'kCn lhek 1&2 'kCn ;k ,d okD;A

[k.M c &vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 
vad dk  gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l &y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02    
vad dk gksxkA mŸkj 'kCn lhek 150 ;k ,d istA

[k.M n &v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 
04 vad dk gksxkA 'kCn lhek 300 ;k nks istA

[k.M bZ & nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 
vad dk gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

[k.M&v 

(Section—A) 

1- O;kolkf;d i;kZoj.k dks fdrus Hkkxksa esa ck¡Vk tk ldrk gS \ 

How many parts is business environment can be divided ? 

2- fjdkMksZ dk fl)kUr -------------------------- ykxrksa ij vk/kkfjr gSA 

Ricardo’s theory is based on ............. costs. 

3- pkyw [kkrk esa ------------------------- enksa dks lfEefyr fd;k tkrk gSA 

.............. items are included in current account. 

4- fo’o O;kikj laxBu dc vfLrRo esa vk;k \ 

When did the World Trade Organization come into existence ? 

5- th&20 dk xBu dc gqvk \ 

When was G-20 formed ? 

6- Hkkjr esa lst vf/kfu;e dc ykxw gqvk \ 

When did the India SEZ Act come into force ? 

7- NAFTA dk iw.kZ uke D;k gS \ 

What is the full form of NAFTA ? 



  

8- Mh- ih- fcy dk vFkZ fyf[k,A 

Write the meaning of D. P. Bill. 

[k.M&c 

(Section—B) 

9- vUrjkZ”Vªh; O;kikfjd i;kZoj.k ls D;k rkRi;Z gS \ 

What is meant by International business environment ? 

10- Hkqxrku larqyu ls vki D;k le>rs gSa \ 

What do you understand by balance of payments ? 

11- oS’ohdj.k ls vki D;k le>rs gSa \ 

What do you understand by Globalization ? 

12- cgqjk”Vªh; fuxeksa dks ifjHkkf”kr dhft,A 

Define Multinational Corporations. 

13- vk;kr ds fy, dke vkus okys izys[k dkSu&dkSu ls gSa \ 

What are the documents used for import ? 

14- lkoZtfud {ks= ds O;kikfjd miØe dkSu&ls gSa \ le>kb,A 

What are Public Sector business undertakings ? Explain. 

[k.M&l 

(Section—C) 

15- vUrjkZ”Vªh; O;kikj ds izfrf”Br vkSj vk/kqfud fl)kUrksa dh rqyuk dhft,A 

Compare classical and modern theories of International Trade.  

16- fodkl’khy ns’kksa dh Hkqxrku larqyu dh leL;k ij ,d fVIi.kh fyf[k,A 

Write a note on the problem of balance of payments of developing countries. 

17- cgqi{kh; oLrq le>kSrs D;k gksrs gSa \ blds ykHk o gkfu;k¡ crkb,A 

What are Multiparty commodity agreements ? State its advantages and disadvantages. 

18- fons’kh O;kikj dk fu;eu D;ksa fd;k tkrk gS \ bldh izeq[k fof/k;k¡ crkb,A 

Why is foreign trade regulated ? State its main methods. 

 

 



  

[k.M&n 

(Section—D) 

19- mnkjhdj.k ls vki D;k le>rs gSa \ ;g vUrjkZ”Vªh; i;kZoj.k dks dSls izHkkfor djrk gS \ 

What do you understand by Liberalization ? How does affect the international environment ? 

20- vUrjkZ”Vªh; eqnzk dks”k ds dk;ks± dks le>kb,A 

Explain the functions of International Monetary Funds. 

21- Hkkjr esa fu;kZr lao)Zu iz;klksa dk ewY;kadu dhft,A 

Evaluate export promotion efforts in India. 

22- O;kikj uhfr ls vki D;k le>rs gSa \ Lora= O;kikj ds i{k ,oa foi{k esa izeq[k rdZ izLrqr dhft,A 

What do you understand by Trade Policy ? Give major arguments in favour and against of free 

trade. 

[k.M&b 

(Section—E) 

23- fo’o O;kikj laxBu ,oa Hkkjr ij ,d foLr̀r fVIi.kh fyf[k,A 

Write a detailed note on World Trade Organization and India. 

24- {ks=h; vkfFkZd lg;ksx esa ^vkfl;ku* dh Hkwfedk dk ijh{k.k dhft,A 

Examine the role of ASEAN in regional economic cooperation. 
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(Assignment Work)

 

ijh{kkFkhZ gsrq funsZ’k % 
[k.M v& vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 

'kCn lhek 1&2 'kCn ;k ,d okD;A

[k.M c &vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 
vad dk  gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l &y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02    
vad dk gksxkA mŸkj 'kCn lhek 150 ;k ,d istA

[k.M n &v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 
04 vad dk gksxkA 'kCn lhek 300 ;k nks istA

[k.M bZ & nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 
vad dk gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

 [k.M&v 

(Section—A) 

1- ifjpkyu ykxr dsUnz ls vkidk D;k vk’k; gS \ 

What do you understand by Operating Cost Centre ? 

2- iqu%vkns’k Lrj dk lw= crkb;sA  

What is the formula of Re-order level ? 

3- ctfVax D;k gS \  

What is Budgeting ? 

4- vuqdwy fopj.k fdls dgrs gSa \ 

What is favourable variance ?  

5- Je dk;Zdq’kyrk fopj.k dk lw= crkb;sA  

Give the formula for labour efficiency variance.  

6- ‘kq) ifjpkyu ykHk vuqikr dks le>kb,A  

Explain net operating profit ratio.  

7- lqj{kk dh lhek dks le>kb,A  

Explain margin of safety.  



  

8- ogu ykxr dk ,d mi;qDr mnkgj.k nhft,A  

Give one suitable example of carrying cost. 

[k.M&c 

(Section—B) 

9- gkYls izC;kft ;kstuk dks le>kb,A  

Explain Halsey premium plan.  

10- la;qDr e’khu ?k.Vk nj D;k gS \ 

What is composite machine hour rate ? 

11- ,- ch- lh- vo/kkj.kk D;k gS \ 

What is ABC concept ? 

12- ifjorZu’khy mifjO;; fopj.k dks le>kb,A  

Explain variable overhead variance.  

13- ‘kwU; vk/kkfjr ctVu D;k gS \ 

What is zero based budgeting ? 

14- le&foPNsn fcUnq dks le>kb,A  

Explain breakeven point.  

[k.M&l 
(Section—C) 

15- vxLr] 2008 ekg ds fy, lkexzh dh izkfIr;k¡ ,oa fuxZeuksa dk fooj.k fuEu izdkj gS % 

2008 
vxLr 

  

1 izkjfEHkd ‘ks”k 500 Vu @ ` 10 

izfr Vu 

5 fuxZeu (Reqn. No. 223) 300 Vu 

6 izkfIr;k¡ (Cr. R. No. 215) 600 Vu @ ` 11 

izfr Vu 

14 fuxZeu (Reqn. No. 324) 250 Vu 

20 izkfIr (Cr. R. No. 222) 100 Vu @ ` 12 

izfr Vu 

27 fuxZeu (Reqn. No. 414) 400 Vu 

igys vkuk igys tkuk ¼QhQks½ fof/k ls lkexzh dk fuxZeu n’kkrs gq, LVksj ystj [kkrk cukb;sA  
For the month of August 2008 the following is the statement of material receipts and issues as 
under : 



  

2008 
August 

  

1 Opening Balance 500 tons @ ` 10 
per ton 

5 Issue (Reqn. No. 223) 300 tons 

9 Receipt (Cr. R. No. 215) 600 tons @ ` 11 
per ton 

14 Issue (Reqn. No. 324) 250 tons 

20 Receipt (Cr. R. No. 222) 100 tons @ ` 12 
per ton 

27 Issue (Reqn. No. 414) 400 tons 

Material is issued on the basis of first in first out (FIFO) method.  

16- fuEufyf[kr dh ifjorZu’khy ykxr rFkk fLFkj ykxr Kkr dhft, % 

vof/k 
xfrfof/k dk Lrj 
¼mRikfnr bdkb;k¡½ 

v/kZ&ifjorZu’khy 
ykxr 

1 1600 bdkb;k¡ ` 10,000 

11 2400 bdkb;k¡ ` 11,600 

Calculate variable and fixed cost of the following : 

Period 
Level of activity 
(output units) 

Semi-variable 
cost 

1 1600 units ` 10,000 

11 2400 units ` 11,600 

17- ek#rh VSªoYl] tks ,d ifjogu daiuh gS] 75 km dh nwjh ij fLFkr ‘kgjksa ds e/; 6 clsa lapkfyr djrh 
gSA twu ekg ds lUnHkZ eas fuEufyf[kr lead fn, x, gSa % 

  ` 

(1) Mªkboj] dUMDVj o Dyhuj dk ikfjJfed 3,600 

(2) dk;kZy; deZpkjh o fujh{kdksa dk osru 1,500 

(3) Mhty o vU; rsy 10,320 

(4) ejEer o vuqj{k.k O;; 1,200 

(5) Dj] chek vkfn 2,400 

(6) ewY;kl 3,900 

(7) C;kt o vU; O;; 3,000 

okLrfod ogu {kerk ds 80 izfr’kr ;k=h gh ys tk, x,A lHkh clsa ekg ds lHkh fnu pyrh jghaA izR;sd 
cl ,d fnu eas ,d fVªi djrh gSA izfr ;k=h fdeh- ykxr Kkr dhft,A  
Maruti Travels, a transport company. Operates 6 buses, in the middle of the city, which is 75 
kilometers away from the company. The expenses for the month of June data given below : 



  

  ` 

(1) Wages of driver, conductor and 
cleaner 3,600 

(2) Office employee and inspector’s 
salary 

1,500 

(3) Diesel and other oil 10,320 

(4) Repairs and Maintenance exp.  1,200 

(5) Tax, Insurance etc.  2,400 

(6) Depreciation  3,900 

(7) Interest and other exp.  3,000 

80 percent of the total capacity is used by the passengers. Each bus takes one trip per day. 
Calculate the cost of per passenger km. 

18- lk/kkj.k {k;] vlk/kkj.k {k; rFkk vlk/kkj.k vkf/kD; dh ifjHkk”kk nhft, vkSj Li”V dhft, fd ,d oLrq 
dh ykxr eas budk D;k izHkko iM+rk gSA 
Define normal loss, abnormal loss and abnormal surplus. Clarify the impact of these on the cost 
of a product.  

[k.M&n 
(Section—D) 

19- mifjO;; ykxrksa ds vo’kks”k.k dh fof/k;k¡ crkb,A  
Explain the methods of absorption of overhead costs.  

20- fuEufyf[kr fooj.k ,d Bsds ls lEcfU/kr gS tks fd 31 ekpZ] 2009 dks viw.kZ gS % 

 ` 

lkexzh 8,00,000 

Je 7,00,000 

izR;{k O;; 5,00,000 

Bsdknkrk ls ` 20,00,000 izkIr gq, tks izekf.kr dk;Z dk 80% gSA ykHk&gkfu [kkrs eas ys tkbZ tkus okyh 

jkf’k dh x.kuk dhft,A vizekf.kr dk;Z dh ykxr ` 1,00,000 gS rFkk Bsdk ewY; ` 40,00,000 gSA  

The following details are associated with a contract which is incomplete as on 31st March, 2009 

: 

 ` 

Materials  8,00,000 

Labour 7,00,000 

Direct Expenses 5,00,000 



  

Received ` 20,00,000 from contractee which is 80% of certified work. Calculate the amount to 

be taken to Profit and Loss A/c. Cost of uncertified work is ` 1,00,000 and the total contract 

price is ` 40,00,000. 

21- udn izokg fooj.k ds lEcU/k eas AS-3 ds izko/kkuksa dh O;k[;k dhft,A  

Illustrate the provisions of AS-3 in respect of cash flow statement.  

22- fo’kky ekVZ ds vkys[k ls 31 ekpZ dks fuEufyf[kr lwpuk,¡ miyC/k gSa % 

fooj.k 2007 2008 

foØ; (`) 300 400 

ykHk (`) 60 100 

fuEufyf[kr dks Kkr dhft, % 

¼v½ ykHk&ek=k vuqikr ,oa dqy LFkk;h O;; 

¼c½ le&foPNsn fcUnq 

¼l½ ` 180 yk[k dk ykHk dekus gsrq fcØh 

¼n½ ` 560 yk[k dh fcØh ij ykHk ;k gkfu 

On 31st March, the following information available from Vishal Mart is : 

Particulars 2007 2008 

Sales (`) 300 400 

Profit (`) 60 100 

Calculate the following : 

(a) P/V ratio and total fixed expenses 

(b) Break-even point 

(c) Calculation of sales required to earn a profit of  ` 180 lakh. 

(d) Calculation of profit or loss if sales were ` 560 lakhs.  

[k.M&b 

(Section—E) 

23- foŸkh; fooj.k fo’ys”k.k dk vFkZ] ifjHkk”kk ,oa egRo crkb;s rFkk bldh fofHkUu rduhdksa dks le>kb,A  

State the meaning, definition and importance of financial statement analysis and throw light on 

its various techniques.  



  

24- ,d Bsdk dk;Z 100 dq’ky Jfedksa] 40 v/kZ&dq’ky o 60 vdq’ky }kjk 30 lIrkg esa iwjk djuk gSA lkewfgd 

ekud njsa&dq’ky ` 60; v/kZ&dq’ky ` 36; vdq’ky ` 24 gSA okLro eas ;g dk;Z 80 dq’ky] 50 v/kZ&dq’ky 

rFkk 70 vdq’ky Jfedkas }kjk 32 lIrkg eas iwjk fd;k tkrk gS  ,oa mudh okLrfod vkSlr njsa&` 65 

dq’ky] ` 40 v/kZ&dq’ky ,oa  

` 20 vdq’ky gSA Je ykxr fopj.k dk fo’ys”k.k dhft,A  

A contract have to complete by 100 skilled, 40 semi- skilled and 60 unskilled labours. Standard 

rate for skilled ` 60, semi-skilled ` 36 and unskilled is ` 24. Actual this work is done by 80 

skilled, 50 semi-skilled and 70 unskilled labours in 32 weeks their actual weekly rates are–` 65 

for skilled, ` 40 for semi-skilled and ` 20 for unskilled. Analyse the Labour Cost Variance.  

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 



  

G -259 

(Assignment Work)

 

ijh{kkFkhZ gsrq funsZ’k % 
[k.M v& vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 

'kCn lhek 1&2 'kCn ;k ,d okD;A

[k.M c &vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 
vad dk  gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l &y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02    
vad dk gksxkA mŸkj 'kCn lhek 150 ;k ,d istA

[k.M n &v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 
04 vad dk gksxkA 'kCn lhek 300 ;k nks istA

[k.M bZ & nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 
vad dk gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

[k.M&v 
(Section—A) 

1- ykxr vads{kd viuk izfrosnu ------------------ dks nsrk gSA  

The cost auditor submits his report to the ................... . 

2- fcØh dh ykxr = 
------------------ – ldy ykHkA 

Cost of sales = ................ – Gross Profit.  

3- ykxr vads{k.k fdlh Hkh mRikn ds ------------------ ds lgh vkSj fu”i{k n`f”Vdks.k dk izfrfuf/kRo djrk gSA  

Cost audit represents true and fair view of the .............. of any production.  

4- ykxr vfHkys[kksa dk vuqj{k.k ------------------ esa fofufnZ”V vuqlkj fd;k tkuk gSA  

The cost records are to be maintained as specified in .................... . 

5- ykxr ys[kk ijh{kk o”kZ ------------------ esa ‘kq: dh x;h FkhA  

Cost audit was initially introduce in the year .................. . 

6- ------------------ m|ksx ,d fu;fer m|ksx ugha gSA  

............... industry is not a regulated industry.  

7- ykxr vads{k.k fjiksVZ ds vuqyXudksa dk Hkkx lh ------------------ ls lEcfU/kr gSA 

Part C to the annexures to the cost audit reports relates to ............... .  

8- mŸkjnkf;Ro dsUnzksa dks ------------------ Hkkxksa esa ck¡Vk tk ldrk gSA  



  

Responsibilities centre can be divided into ............... parts.  

[k.M&c 

(Section—B) 

9- ctV vof/k ls vki D;k le>rs gSa \ 

What do you understand by Budget Period ?  

10- U;wure LVkWd Lrj Kkr djus dk lw= fyf[k,A  

Give the formula to calculate minimum stock level.  

11- foi.ku vads{k.k dks ifjHkkf”kr dhft,A  

Define Marketing Audit.  

12- foØ; fu;a=.k D;k gS \ 

What is Sales Control ?  

13- Lo;a vads{k.k ls vkidk D;k vk’k; gS \ 

What do you mean by Self Audit ? 

14- VkyeVksy dh izòfŸk ls vkidk D;k vk’k; gS \ 

What do you mean by tendency of back passing ? 

[k.M&l 

(Section—C) 

15- oS/kkfud foŸkh; vads{k.k rFkk vkUrfjd vads{k.k ds e/; lekurkvksa dks le>kb,A  

Explain the similarities between statutory financial auditor and internal auditor.  

16- ,d ljdkjh dEiuh dh vads{k.k izfØ;k rFkk vads{k.k dh fu;qfDr ds lEcU/k esa dEiuh vf/kfu;e] 1956 ds 

izko/kkuksa dk o.kZu dhft,A  

State the provisions of Companies Act, 1956 regarding audit procedure and appointment of 

auditor in a government company.  

17- izcU/k vads{k.k dk;ZØe cukus ls gksus okys ykHkksa dk o.kZu dhft,A  

Describe the advantages of preparing a management audit programme.  

18- dEifu;k¡ ßvads{k.k izfrosnu vkns’k 2003Þ dks le>kb,A  

Explain the companies “Auditor’s Report Order 2003.” 

[k.M&n 

(Section—D) 

19- lsykseu fof/k ls vki D;k le>rs gSa \ foospuk dhft,A  

What do you understand by Soloman’s Method ? Explain it.  



  

20- vkarfjd fu;a=.k dh leh{kk dh fofHkUu fof/k;ksa dks le>kb,A  

Explain the different methods of review of internal controls.  

21- dEiuh vf/kfu;e] 1956 dh /kkjk 227¼4A½ ds vUrxZr dsUnzh; ljdkj }kjk le;&le; ij dkSu&ls vkns’k 

tkjh fd, x;s gSa \ 

What are the directions issued by Central Government,  from time to time under Section 

227(4A) of Indian Companies Act ? 

22- vki ,d lgdkjh miHkksDrk Hk.Mkj dk vads{k.k fdl izdkj djsaxs \ 

How will you conduct the audit of a consumer’s  co-operative store ? 

[k.M&b 
(Section—E) 

23- lkekftd vads{k.k dh la[;kRed ,oa xSj&la[;kRed fof/k;ksa dk foLrkj ls o.kZu dhft,A  

Describe in detail the statistical and non-statistical methods of social audit.  

24- /kkjk 619(A) ds vUrxZr dsUnzh; ljdkj ,oa jkT; ljdkjksa ds D;k dŸkZO; ,oa nkf;Ro gSa \ foLrkj ls 

le>kb,A 

Explain in detail the duties and liabilities of the central and state government under Section 

619(A). 

 

 

   
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 


